BTY=hILT—2% / Technical Datall

H#RUNZ / Components
No. 2% / Part name #E / Pcs '8 / Material - REMIE / Color-Finish
1 My F 58— / Top cover 1 ASA#HE UL94HB / UV-resistant ASA UL94HB RIALRS'L— / White gray
HIRTEABSHIAR (UL94V-0 Ak 4)) / Flame-resistant ABS UL94V-0 | Fy3I—)LY L — / Charcoal gray
2 | RF4— / Bottom base 1 ASA#E UL94HB / UV-resistant ASA UL94HB RIA RS L— / White gray
B IRMEABSHIAR (UL94V-0 T A 4Y) / Flame-resistant ABS UL94V-0 | Fr3—)L% L — / Charcoal gray
3 | FSA2KAH/N— / Blind lids 2 ASAMIRE UL94HB / UV-resistant ASA UL94HB RTA RS L— / White gray
HPRPEABSHIEE (UL94V-0 T F%) / Flame-resistant ABS UL94V-0 | F3—JL% L — / Charcoal gray
4 H R Yk / Gasket 1 1)ara L/ Silicone 7594 / Black
5 |[EfFTER (AR M3 x 8) 4 ATULR AT
Screw (Binding head M3 - 8) Stainless steel Unfinished

{REZ4HR / Protection class : IP67

{5 ;B E&EE / Operating temperature : ASA -10°C ~ +60°C
ABS -10°C ~ +50°C

#&4tJLY / Recommended torque

#173— / Top—cover fastening : 0.35N*m ~ 0.45N*m
HA4R / PCB mounting : 0.2N*m ~ 0.3N*m

[TAKACHI) #=t&itshFBHTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

G/ Title
P67 KRy o R

IP67 NETWORK PLASTIC BOX

o]

E{i% (*UE*ED) 7 Color Type (End of product number o 7R/ Approved #&[X/Checked X /Created FIF /Product number RIE/Scale
_ KA 1:1.5
io+& / Code £ / Color & / Material . WP15-15-601
G RITARTL— / White gray ASA#tE UL94HB / UV-resistant ASA UL94HB R Bt 1#%H - 1/ 4
c FxI—)LY L — / Charcoal gray | BEAPEABSHIE (UL94V-0 E %) / Flame-resistant ABS UL94V—0 fERE/Date  2018/10/04




150

55

—

150 4-R24

102 4-R0O5

= A

17

38

B-B(1:2)

3.5

A-A(1:2)
—
ol
485
ol
E—

a an
_ y

72
1175

BREUINTFEMTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

G/ Title
P67 KRy o R

IP67 NETWORK PLASTIC BOX

o]

2 /Approved

iR

X/ Checked

B

X /Created

1#H

24 /Product number RE/Scale
WP15-15-601 1:2
fepiE/Date  2018/10/04 2/ 4




My 58— / Top cover

|

150
102

-

17

150

102

4-R24

4-R0.5

-

[y

C-C(1:2)
1
e
S
|
5
15
35 135

122

98

118
112

138
112

65

HRERBIK * RELTLERA
Recommended PCB dimension * NOT SUPPLIED

4-M3 {24 —pFh
4-M3 Insert nut

6-M2.6 FAEAR AR R

6-M2.6 Boss

6-@2.8

86

BREUINTFEMTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

G/ Title
P67 KRy o R

IP67 NETWORK PLASTIC BOX

o]

2/ Approved #%[E/Checked HE/Created | EF/Product number RIE/Scale
WP15-15-61 12
iR B 1#H 34
1ERLH/Date




RT 41— / Bottom base

38

150 4-R24
E
o) | &
© o o ®
||-’7’
)
7
o o~ !
2 T =' ~ | r T
FII | ‘ F
i & |
A4 ‘
! I !
Q ~ j"\ %J J
%,AL,ifif,ififi\J‘y
|
€
2-M4ARMUY—Myb GF =13V WPMB-M4-2ER 4+ )
2-M4 Insert nut for Pole mounting bracket (WPMB-M4-2)
F-F(1:2) 6.5
3 = ] _H 3
" HY
[
™

118
4-M4FA S} ERER AT FR 7N 105
4-M4 Mounting hole 4-M2 6 REARER R R
E-E(1:2) 86.5 4-M2.6 Boss
3 35
& g =
5 [
140
4-R4 36 68 36 4-@2.8
o |
N
77777 J —— e fm e
g ] <
,,,,, \ L
o
N |
WRERBR * RELTOERA 105
Recommended PCB dimension * NOT SUPPLIED
G/ Title
TAKACHI| HX&#ahFERTE P6TR KA Y S R O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. IP67 NETWORK PLASTIC BOX
2 /Approved 18X/ Checked X /Created FIF /Product number RE/Scale
WP15-15-61 1:2
iR L2 S t#H 44
YEFiE/Date  2018/10/04




